a1

51, Fnl Teiarss e W @ & ol A
waTfe w @ w9 arelt sificfe #

(a) CallChy + Ha0 + COy —
CalHOO ),

(b} Ca(OH), + COy = CaC0, + H,0

(€) Ca0 +C0, = CaCO,

(d) CaCly + H,0+ CO, —
CaC0O, + 2HCI

52, Frafifem % & a-m @ i
qHIE 7
(a) fmﬂqmaﬂ?—::m%q:ﬁﬂ}:
W #§ s oW & faf
wopt £ wen B
(b) =R #fF W@ = s
CaS0,2H,0 ¥
aifim we = I W e
T H W oW F B fEm
=T #
IF TE W AGHEA o
FH F AR T WK T e #
= #

T F N & i fefafes 6 3
frm wom 6 atefy = aq fer

MR

(c)

(d)

53.

(a) drererd (analgesic)
(b) gfertefy (antiseptic)
(c) WS (antibiotic)
(d) WF-37 (antacig

TODC-T-GAT - C

- B
54, Hiite # frfafim A & w-ar faam

e g ?

{a) 2Ca0-510

(b) 3Ca0-8i0;

{c) 4Ca0-8i0;

{dJ 3(_ IH':J - Izﬂ_:l

frefafim & & @l v vEEfE
oftaeds wdf & 7

(a) THITAT T AT

(b) =g # S

(c) =% = firgmen

(d) = & ar % amy wfifm
Fr=fafiam 5 &
g2

(a) =M% H s
T Hifo ofiard @

(b) et & ey % N Tl
oA Mok At e g

56, - T W

HAT-BqTon

() WM ofmdy 3 AT W
TEEFE e aey atreT

(d) & F s e UF  Tramafie
yftada #
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PART

51. The reaction that occurs on passing

carbon dioxide gas through lime water
is

|_il!| ":15“.1':.?'1 1 H_'-';j t ‘;-{1": - 3
Ca(HCOy),

(b) Ca(OH), + COy = CaCO4 + H,0
(¢) CaO+ CO, - CaCO,
I_i‘l.':| Fﬂf]:' .]]_1{-] +(:U:"'i'

CaCO, + ZHCI

52. Which one of the following statements
15 NOT cormrect ?

(a) Water of crystallization is the
fixed number of water molecules
present in one formula unit of a
salt

(b) The molecular formula of Plaster
of Paris is CaS0,2H,0

(c) Washing soda is used for removing
the permanent hardness of water

{(d) The atmosphere of Venus is made

up of thick white and yellow

clouds of sulphuric acid

53. Which one of the following type of
medicines is used for treating indiges-
tion ?

{a) Analgesic
(b) Antiseptic
(c) Antibiotic
(d) Antacid

13

54. Which one of the following

~[8&~Which one of the following is NOT a

\

~(c) During a physical change, the

15 NOT
prefent in cement

(a) 20Ca0»50,
{b) 3Cald-5i )y

(c) 4 at) hIrJJ

(d) 3Ca0-AlLO,

chemical change 7
(a) Buming of coal

(b) Rusting of metal

;(fl;{_cl[inl_; of ice

(d) Reaction of acid with base

- Which on¢ of the following statements

is NOT correct 7

(a) The interconversion of states of
matter is a physical change

(b) During buming of a candle, both

chemical and physical changes

take place

chemical composition of mole-

cules changes

(d) Rusting of iron is a chemical
change

C - TODC-T-GAT
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57. 1-.’]'1‘.'r:-z.|i_r._[ I 7w ar faannft fiysm

Tl

(a} T BIEOOhISE ;"!| HET

(bl f=h I_'ui'l-'r'--i,'..fI ._1-:1( AHE (W)
| trezat @ firm
I r

(c) =HE T

58. T [ w gl 1@ gafem difim ik

g & AR R g W owm W=
T 12fm
qHT Tt
(aeT) ( TEHTI AT )
A. FTERITH 1. 2
B. ATEg A 2.1
C. frama 1. 8
D. §7%% 4. 4

R e R R |
11 e S HI |
T e e R
) R TR (S SRR |

TODC-T-GAT - C

89,

Bl

ol.

TR 111%1&}'.::‘[ {Redox
Aoy dfire U ATHAD
q# femfm 2 7

for=rfertia
reaction) ¥,

{Reducing agent) th ¥

N,H, + 2ZH;05 —+ Ny + 4H0

|_H] ||_||:.='_'.

(b) N;H,
(c) N .
(d) H,O

ﬁﬂﬁ'ﬁﬂﬁhfﬂﬁ‘:mm:jﬁ:#
HIAT W 87

(a) & W
(b) R =
(c) F9 ==

(d) =i ==

o i et FwIe ¥ fe st
H 8 -9 Fa0 Feen

(2) HfEmm & g
() Mifrfirm & Wi

(c) Mlifirm & et

(d) fifimm & ek

i A-e—
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§7. Which one of the following is NOT a
heterogencous mixture 7

{a) Sulphur in carbon disulphide
(h) Mixture of sugar and salt crystals
(e} H:md}.' water

(d) Sulphur in water

5. Match List T with List II and select the

answer using the code given below the
Lists :

List I List 11
(Element) (Atomicity)
A, Phosphorus ). 2
B. Nitrogen 2.1
C. Neon 3.8
D. Sulphur 4. 4
Code :

VT Sl SIS R
PO e e R

) e i e

“B% In the following redox reaction, which

i r T ]

compound s aching as 3 reducing gy,

: T
agent 7

N,H, + 2H;0; = Ny + 4Hy0

(a0,
(b) N,H, "":
{c) N, :
(d) H,0

;;An Which one of the following is con-
|4 k

15

sidered to be the purest source of
water 7

(a) River water .
(b) Sea waler
}.;.}*’i‘;‘.:]] water

(d) Rain water

61. Which one of the following saiis 13

% '.

: - .
responsible for temporary hardmess ol

water !

(a) Sulphates of calcium

(b) Chlondes of magnesium
(¢) Bicarbonates of magnesium

(d) Sulphates of magnesium

C - TODC-T-GAT
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62. Tt [ et 1R walm A sk
gt & A Be o oge a WA W
FaT qim

et | a1
i._-g'l'ﬁi':‘q_-i.'q','} (WETT)
A, CaO () + H,O(l) = 1. 7%+
Ca(OH)s (aq) Eraee
B, CaCO, (s) = 2.f&-
Ca0 (s) + CO4 (g) Freamea
C. Pb(s) + CuCl, (ag) —» > T
PbCl, (aq) + Cu(s) 4 fdiom
D. Na,50, (aq) + (araeze)
BaCl, (ag) —
BaS0, (s) + 2NaCl (aq)
- T
A B C D
(a) 2 1 - 3
(b) 2 4 1 |
T I e T S
(d) 3 1 F

63, Frafafam & & wR-4d1, s SNy

sifafam (Endothermic reaction) g ?

(a) CH,(g)+20,(g) — CO,(g)+
20, (g)

(b) CgH;20;4 (ag) + 60; (g) —
6C0; (g) + 6HA0 (1)
() N;(g)+ IH;(g) > 2NH, (g)

(d) 2Pb(NO;), () = 2PbO) (s) +
4NO; (g) + O, (g)

16

fid,

fpy T~
S =g J A A AR &7

(water gas) =

frfefaa # @

{a) Hy0+ COy
(b) NH,
(©) Hy+N

¥
Fd

(d) CO+H,

Frafufira H-a ' |
w2 7

(2) ¥ wus 7 frega wwdars A=
(extended covalent bonding) *
TRV FIR T #

(b) T 9re AR BR weelE wedl
# wcha g

() ¥ g = e

(d) T o TN TES % =g 3
firy =T

,(' firfafiaa # et sl 1936 8 wams

7wt o feam o & oes an
£t wogeran Y 7

L'l-.F {ﬂ' JHrr H &y ”
(b) AR, o,

(c) T HATE wtie

(d) AW AR

(} Scanned with OKEN Scanner
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T, r
e oy

e, 5,

Ll T —— “_H‘"‘
-'-'-'"l-ahli_.- .
=¥

] ¥
X {1;_ #fatch Last T with List 11 and select the

,:/J"'J answer using the code given below the

4, Which one of the following 153 Enown

8 "wialer gas Y

List=
Last | List II (a) H,0 +CO,
{Reactian) r'J'1l|':'r'J
A. CaO () + HyO () = L. Single (b) MNH,
[.I””Ht [:!L“ ] _"'. ':!!S'Illl‘-'m‘:'
ment (€) Hi+ My

B. Calll (s) =
; AN y 2. Double
Ca0 (s) + COy (g) | \ | displace-

menlt

" Pb (s) + CuCl, (ag (3=
: LHT;:' . = j-hq] i l\} Combi- 8 Which one of the following statements
2 {aq) + Cu (s) ; S e e K

nation =] bt correct 7

(d) CO+H,

D. Nay50, (aq) + }P Decom-
BaCl, (aq) —» position
BaS0, (s) + 2NaCl (aq)

(a) Diamond is hard due to extended
covalent bonding in it

Code - (b) Fullerene is composed of five and
six membered rings

-
(a) 2 1 4 3 {!;)"‘Diﬂnmnd is 2 good conductor of
electricity

o PR N R

S TR Tl e (d) Graphite is used as a lubricant

T e

66. Who among the following presided
over the first session of All India

. Which one of the following Is an
endothermic reaction 7

(2) CH, (g)+ 20, (g) = CO; (g)*
20, (g)

(b) CgH,;;0; (ag) + 60, (g) =
6CO, (g) + 6H;0 (1)

(e) Na(g)+3H, (g) —» 2NH; (8)

(d) 2PH(NO,), (s) —» 2PbO (s) +
4NO, (g) + 0z (8)

Kisan Sabha in Lucknow in Apnl
1936 7

(a) Sahajananda Saraswati
(b) R.G. Ranga
(c) Ram Manohar Lohia

{(d) Jayaprakash Narayan

C — TODC-T-GAT
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67, Frafifirn # & famy “srer-mem

68,

HIEA (Self-Respect Movement) &
uaee e 7

(a) wifen @

(b) @t fadere

(c) % . TR o

(d) =0 &t 5w, sz
ﬂﬁﬂﬁlﬁfﬁﬁﬁ@Tﬂmﬁﬁﬁﬁm
T~ | Feafefm § @ 9,
feraerat & w-vama & fomg ot 7

(a) Toremgat

(b) T

(c) Feaaaemd

(d) wedT=ggn

69. B w4 M & wn # frafafie § 4

F-AT WaT G e 7
| dem fims & ale 1916 #
" § st =i i
A (9% widtg weE) § B
w1 | wEA e
2. Tt = A fadaw 1916 7 W &=
AT % & i g
3, e H 94 & foro fime €+
F HERE (@i R o)
TAles, e Wid #R R § =
T o #k wde 6 i o i
WA & wwrE B
A fow g2 wan @ I vfi
(a) ¥ | 3k 2
(b) F= | #k 3
(c) A 2 #R 3
(@ 1,23k 3

mﬂC—T—GAT -C

18

0. e sz framamr & wAY 7 Freifirfirs
i i - e e i R

71,

(a) ¥ wEF Hidd, FAGN K
w4
(b) & weardt forarer TS (Govern-

ment Inspector of Schools) q
(c) 3 % T & Hhedt A
(d) & fomen qEffae Eifaors &
HEATTE o
gt 1w gt 0@ g $ifm sk
T & A fin o= W owem o=
I g .

ol 1 it 11
(o)  (wonfas @wf/
J5%F)
A fom a1 af fefie
dfem arsfefes
B. TTHEAEE AR i
T feggm
2. forn qafdare
. ﬁa 4 E‘:ﬂ{ mﬁﬁr'lﬁ'l'-‘-[
D. T Tt 3. 690 WeRy
ik 4. AT
WHT
e :
AR Eh
(a) 1 3 4 .
) TR I SR
1

elie 2" 4

1 .

|
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67. Who among the

tollowing founded the
Sell-Respect Movement® 7

(a) Jvotiba Phule

(b) Swami Vivekananda

(c) E.V. Ramaswami Maicker
(d) Dr. B. R. Ambedkar

68. Chola inscriptions mention several
categones of lands. Which one of the
following was meant for the mainte-
nance of school ?

(a) Tirunamattukkani
(b) Shalabhoga

{c) Vellanvagai

(d} Pallichhandam

69. Which of the following statements
about the Home Rule League are
cormect 7

]. Lokamanya Tilak set up the Home
Rule League at the Bombay
Provincial Conference held at
Belgaum in April 1916

7 Annic Besant announced the
formation of Home Rule League
in September 1916

3. To avoid friction, Tilak's League
was to work in Maharashtra (ex-
cluding Bombay city), Karnataka,
Central Provinces and Berar and
Besant’s League was given charge
of the rest of India

Select the answer using the code given
below :

{a) 1 and 2 only
(b) 1 and 3 only
(c) 2 and 3 only
(d) 1,2and3

19

T0. Which one of e following statements

aboul Ishwar Chandra Vidvasagar is
NOT cormrect 7

() He was the Principal of Sanskrit
Collepe, Caleutta

(b) He was a Government Inspector
of Schools

(¢) He was a Secretary to the Bethune
Schowol

(d) He was the founder of Widow
Eemamiage Association

Ti. Match List [ with List I and select the

answer using the code given below the
Lists :

List I List IT
{Reformer) (Social Work/ Text)

A. Vishnu Shastni 1. Vedic Physics :

Pundit Scientific

_ Origin of

B. Karsondas Hinduism
Mulji

C. Debendranath 2 Widow
Hemarmage

Tagore :
Association

[¥. Baja Ram
Mohan Roy 3. Satya Prakash

4, Tattvabodhim
Sabha

Conlle :

1) ek LR R

| T e W PR
5y, e e TR
d 2 4 3 1

C - Tﬂ]]c'.-T-GAT
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72. Tl Wy #, awd % s fea
o 9 91T My ?

(a) FeTEEl

(b) Fae

(c) wiefwd (wirged)

(d) warE

. A s aw Pt fanh
“'I'ﬁﬁﬂﬁ?ﬁﬁﬁﬁ%mmﬂ
FTAEATIET water Hif

1. dtex Hdft

b

TEifET A

4.2?1’3!?5-11

A R T g W i R T i
(2) 2=1-4-3

) 2~ =]

c) 4-3-2_1

d) 3-4-1-2

74, Fafufaa # 3 T -H #eH Jo0 A

(Bretton Woods System) ® aafim TE

27

(a) HATETIT T F=

() fadtn frvmgg & v snferaen
i g

(c) Fsi gAfmm v fmm

@ #fer fafmm 7 w aafa o
Hifes =maem i g

mI}C_T-[;ﬂT -C

75, #ae T am 8 7
(a) T UTEAT WTHE

(b) TEF HE T

(c) wEEER F adlt  (Salavahana
cnun}fﬁfﬂ,ﬁﬁﬁﬁ

(d) =T T & Twa

76. AR, UF [ETHG-HTE F ISR

¢, firmd vF @ 9 wand = o #
o =i §

(a) q9Y

(b) gt
(c) HEaTRT
(d) =T

7?.u?rémmaﬂtmmin

ﬂﬁmﬂﬂh&hﬁﬁﬁwmﬁﬁh{ﬁq
Frefefire 3 & o st 3 e
wed (1 a1 W) wnfi fi
(a) TyEfET me 1773

(b) e =femr w1734

(c) 9 TR 1793

(d) =TT T 1813

78. frifrfian 3 & fomr o 8 3 ey

gy &t Afa wit ?
(a) TE WA

(b) T ¥

(c) TE wers
(d) T T fire

(} Scanned with OKEN Scanner
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74.

TL. In the Harappan Civiliz

alon, traces of
canals have been found at

(a) Banawali

(b} Lothal

(e} Shortughai

{d) Dholavira

Arrange the follow ing foreign travel-

lers to India in chronological order,
beginning with the earliest :

1. Peter Mundy

2. Antonio Monserrate

3. Afanasn Nikitich Nikitin
4. Ibn Battuta

Select the answer using the code given
below :

(@) 2-1-4-3
b) 2-3-4-1
)y 4-3-2-1

(d 3-4-1=-12

With which of the following was the
Bretton Woods System NOT associated

(a) International Monetary Fund

(b) Economic recovery after the

Second World War

(¢) International Rank for Reconstruc-
tion and Development

(d) Esteblishment of a monetary
system based on floating exchange
rate

T6. The Ramaockariia, an

78, Hi'lhp:l.l'l'll.ll.-.m 1% the name of

(a) a Pandya rules

(b} a Chola king

[c) a mimister in Salavahana court
(d) the capital city of the Cheras
example of

dvyasrya-kavya, telling two  stories
simultaneously, was written by

(a) Subandhu
(b) Bhatt
(¢} Sandhyakara

(d) Kamban

77. Which of the following Acts estab-
lished the Board of Control to guide
and control the work of the Court
of Direciors and the Govemnment of
India 7

(a) Regulating Act of 1773
(b) Pitt"s India Act of 1784
{¢) Charter Act of 1793
(d) Charter Act of 1813

78. Who among the following Sikh Gurus
laid the foundation of the Khalsa

Panth 7

(a) Guru Manak

(b) Gumu Arjan

(¢) Guru Hargobind
(d) Guru Gobind Singh

C - TODC-T-GAT
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79.ffafm d ¥ faw g @
HEEAaE G % oamm @ ot s
AT R 7

(a) 9wet TEadTy Thewn
(b) TE TwadTT e
(c) et daafy e
(d) w2t qwadfy g
80. TN Fromall & o Frerfafun 4 @
w8 & 7
(a) 1956-1957

(b) 1966-1969
(c) 1975-1976

(d) 1992-1993

81. f&=w (BRICS) firar woiem & an #
fr=fafia wot w fimr $if

1. v T fira weiem aefte &
sratfa fasar man @

. 2 firm fier woem Bl § A
FEET W A frn o g

IF A A B/ AR ww ad
g/E 7

(@) ¥ |
(b) “aw 2
(c) 13k 2 Z
(d TWL,TE 2

g2, WAl TEelt W W TEA T ¥ |

Prafafirn  sa@rEE  WEAHT W

gremaTar. srafera Hif .
I, www {Elf_é [ | ;HJ'I o WITH
2. se-wifeedea afufees framga
1 fasa (advent)

3. WoH W91 J90E F1 WM

A w0 5= w1 e = T g9

() 2~1-3
by 1=2=3
() 3-2-1
y 2-3-1

8. ffefm 4 ¥ Sm /et
ﬁmm%#ﬁm%mﬁqaﬁ
Aftww & /8 7

1. =9 A &1 sfieme

. T =1 aftew

Fed

3. 9% @ sore af ¥ g wf % oo
frge sk sfed fasr o
EIBET

A fou U 2 W W e I qfiu
(a) 1 3Nk 2

(b) 2 W 3

22

(} Scanned with OKEN Scanner



g
L ¥ L
319, Which one ATIO T

the following plape
; i plans
15 also known a

BE Placing the e . - e : .
as Mahalanohis Plan 7 - | E the carliest hirst, arrange the

following international events in the
: 3 e chronological arde
(a) First Five Year Plan gical order

I .|I||rl:||||||; TN a] I.II' AR ‘ll'l'r.'rlll -'r"a.||!.I_'
(b} Second Five Year Plan Web)

(c) Third Five Year Plan 2. Advent of Inter-Continental
Ballistic Missiles

,l-rﬁ Sixth Five Year Plan T T

" satellite
(80 Which of the ;
_ ; 1e following were the vears yoa
Vi \‘1; of Annual Plans ? R Py i;';:: :lh“ answer using the code given
(a) 1956-1957 ‘v’ﬁqﬂ 5 @ 2-1-3
(b) 1966-1969 k) 1-2-3

-

o

T
{H/ 1975-1976 e 3

d 2-3-=1
(d) 1992-1991
%ﬁ: Which of the following rights under
81. Consider the following statements the C-u:rnstliluliun of India 1s/are Funda-
about BRICS Summits : mental Right(s) ?

. 1. Right to work
1. The first BRICS Summit was held 5

in Brazil 2. Right to privacy
7 BRICS Summits were held in 3. Right to free and compulsory
New Delhi on three occasions education in the age bracket of

six to eighteen years
Which of the statements given above

: p Select the answer using the code given
is/are correct !

below :
(a) 1 only () | and 2
(b) 2 only _ (by 2 and 3
(c) Both 1 and 2 (c) 2 only

3 y
(d) Neither 1 nor 2 (d) 3 only

2 ¢ - TOpC-TGAT
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84. FEoefta wmeAl ¥ el (flags) *
Ty # frafafir st o few
Fifm

| EU% =13 # i gy w g
el =1 wm = g
2. UN % o1t # 37 % 9w &t &1 i
Hee el
3. ASEAN & @a # e, &9, w9
i e G #
T # R fem e s wd
t/E
(a) =
b 1

¥ ]

{c)
(d) 3

8s. frafafim & & o9-3 afify o &
THEAT U wedns % AEdem #
g THT R 7
(a) ==a7 79 Agar afafy
(b) i Frgen afafa
(c) wA. mH, T mhifa
(d) sfefea a7 afify

86. % F@aA v i wieE g 05 m @ |
@ i

(a) +0-5D
(b) —0-5 D
(¢) +20D
(d) =20D

TODC-T-GAT - C

AR -

87, fomht skt & A, SR FEEE T T
v it Fem awmEmh W Em |

e fao o == & B Faffe =

=1 From &

(a) =hro-geE s forom

(b) Tl =1 TEEE faw

(c) w1 zfor-we firam
(d) %= = fmm
88. T WS (AU) § wF wEs
(parsec) T faern g & 7
(2) 2=10° AU
(b) 2x10* AL
(c) 2x10° AU.
(d) 2x10° AL
89, e % fih fram & B feaffim 5
B FH-H T T A b o

(a) frft fiz &/ amn % 9w 3w
fis & @ & Wt g @

(b) Tl fiz ® o 9 3 w3 =
i faam o v 2

() T & ufiwda & oo = =9 &
A g @

(d) Tl fie @ =0t O 32 == =
i & w3 & et g 2
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84. Consider the following
with regard to flags of

Chrganizations

statemcenis
Internationa]

1. The flag of EU hag g circle of

14 o 2
gold stars on a white background

2. The Flag of the UN carie

: 5w
pairs of olive free

branches

3. The ASEAN flag carries blue, red
white and vellow colours

How many of the above statements
is/are correct ?

|:ﬂ] Ml
(b) 1
(c) 2
(d) 3

85. Which one of the following com-
mittees is NOT associated with
decentralization of Panchayati Raj
institutions in India 7
(a) Balwant Rai Mehta Committee
(b) Ashok Mehta Committee
(¢) L.M. Singhwi Commiltee

Abhijit Sen Committee

(d)

. The focal length of a concave lens 15

0-5 m. The power of the lens 15

(2) +0-5 D 6‘;; oS
() -05 D e
74 = e b =
/ﬂ)’r +2-0 D okl
(d) 20D Sl

\ FT' Ihe rule 1o determine the direction of

2 force experienced by a straight .y
curncnt carmmying conduclor I::-i.s.l: ced 1A
magnetic ficld which is perpendicular
o it 18
(a) Right-hand thumb rule
(T Fleming's left-hand rule
(c) Fleming's right-hand rule
{d) Hund's rule
B8. Ome parsec in astronomical units (A L)
P .
15 about -
(a) 2x10* ALL Wi,
B
(h) 2= 10* AU
{c) 2x 10° AU
(d) 2x=10%AU.
89. Which one of the following statements
for second law of motion 13 NOT _
b
commect 7 .
O
b
{a) The net force on a body 15 propor -
tional 1o that body's acceleraton
. ; " . W, g
(b) The net force on a body 15 i the
same direction as the acceleration
(c) The time rate of change of P,

momentum 15 equal to force

The net force on a body is propor-

- tional to that body's momentumn

C - TODC-T-GAT
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90. feft fg = arowr 310 K @ Ao
30 K ® 9 &) ff afemew A
A A et afy i @ ¢
(a) 20°C
(b) 30°C

(c) 37°C

(d) 6mC

9. f=h fiz w W g fm o wd &
fo frfifirn & w1 = adr
wEf & 7
(a) & m =0 fiz e HIATT T
T H gy B

(b) T mar = FFaw fiz & wrifirs
s st fafy & o f 3ahn
T W iy e

(c) T mn = film g0 st o
oy o it aan

(d) Tfe fiz Fr Tecarin a9 ¥ A
feearfoa feear sar 2 &t fie mn
w1 = #

9. e dda-m s wd 2 7

(a) == # gfom & wra-amg fan did
#

(b) & faht g3 & fam met o £,
T WEAT WA &

() formn s sfafim == v 6 =
W wH A #

(d) %= #K N/m®> & & #r
(af1z) =t frefim o= #

TODC-T-GAT - C

g3, feafalem 7 0
X-ray th WY

{(a) 1 nm
(b) 10 nm

(¢) 100 nm

(d) 30 nm

94, fireft 7ot H,

forn it = fatamm

el T R 7

CIECa) {cyu’piﬂccjj'_ﬂ' 1

T # afigenE (objective) FH A

(2) st wwm Zh R = TEw
(aperture) B B

(b) = wm T gk Or Ins

e #

() *0 Hiwd 7t ot 93 e o @

(d) =5 wiwn g @k 21 oew v 2

95, frlt wiela & 3=, B E=hf %
E‘-Tﬁ?IIT-Ei:ﬁTHTWT'E:,mETI

gy & dk b wiE s a6
fomm, (dimensions) fer wmm #
(a) W wam

(b) =i e

(c) fareamm

(d) =wrgef

(} Scanned with OKEN Scanner
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= l"I|~ ' ey ¥ L™ h..,.' "
& ""l-., by ™ b Y -
-|'-|.:. ‘h““. L T ':u “‘-H -1"'-‘- o b L= )
o L i L} 5
e Hh“‘ I‘“h‘ LE ] g P g
J = L1 - LT “‘H oy, -
o i,y " ¥ Sy o =
gé W, Vb, b
o 1 "'Il..." .M"Hh‘-‘ ‘“‘"h_ [
T L —~ W
! L=
"‘"h.:.__*“‘ -u..,qr.h """\-u"*'qq‘u
I- - " "
'ﬂ{t!. he temperniure of & by INCIenAes 93, Which one of the following wave
F X & fram ;t“ | o T ] I‘-. ll“- li MPeral I"“l.'"'l I.I||I|I|II'III S EOTTER d &
INCrease 1n “I“':\-'ll.'l.' ‘.|'|'|'|'”l. I an X ray i
o1 g
hit' faj | nm
i ;
(L 307
i (b} 10 nm
. l.|."| 17 L
fep  TLEN pam
|_|,!:l G
(d) 300 nam
Which one of the following statements
I for the work done by gravity on a body : T
15 N@T cormmect ? 94, Im a Telescope, compared 10 {
’ eyepiece lens the objective lens has
,t‘{] Work done iz independent of the
path followed by the body (a) larger focal length and larger
;||1|.:|:ll||l::
b} Work done depends only on the
vertical distance separating the (b) larger focal length and smalles
initial and the final |'Hﬂii|-|““ of the aperiure
body
-y smaller focal length and larger
o : . depends on the path (e)
ic) Work done depends | sperture
followed by the body
; . . .
(d) Work done 15 Zero il the body 18 {d) smaller focal length and smalier
displaced horizontally to the force aperiure
of gravily
9%, The energy, E, of a photon can be
& "'i Which one among (he following cxpressed as E=hf where J 15 the
/ \ r . L] g ¢ Lamnt
'1'| * slatements 15 correct ? frequency and h is Planck’'s constan
l Il The dimensions of A are the same as
. ae well as
iressure has magnitude as Wt that of
(a)
direction
- : q a LLLITHI
e [, the (a) linear mome
(b) As we go deeper in a liquid,
- s Jecreases
FII'ILH‘-"rUrL dLLrL 1.1:] :III|'"L||- fROITE L
: A arees acl on
(c) Action and reaction fore
the same object (c) displacement
‘) resent  the
((dj/l;asﬂll and N/m® T1€p (d) torque
same unit gy
C - TODC-T-GAI
27
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96. Torft 75y w wrlwdt sw g fs T
#rd g & afd

; {a) #7] W Preggs a5 & B %
. faolta fean # an @

(b) 5 W foeargsy a=m 6 fon &
- i
. 1;'I<I.- o

T W fenm ww f o &
ey faam # g 2

(d) =vdes & & =

(<)

97. foelt aga Wt amandt i
Wi Sadig & gy 2

(a) TFHATA

(b) FEATA

(c) =

(d) #afag w Fwwam

08, fr=fafas & & fom suser @1 9w
250°C AT9AH "R % oo fiem

Tl B 7

(a) et o smnfm aoadt =
TIENT Fh

(b) feft Oemrem smnfea amommdt =
TN FH

(c) Tl zigedtt (fafram) awmbiier
w1 FIGN Fh

@ el am-d@ gwm s
AT FT T

TODC-T-GAT - C
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1040,

101.

fipell oot & vwiEm TEOET E, IR
AT @ gftada foen faem 23 & amg &
aged & o smfem e & o

4T W AT R

(a) fafire san

(b) fafere 1w s=m

(e) ardig srfean

(d) S FHi

ag 19 e w el g e A W

o T ATH I A 5 & e
eaa t, e e R 7

(a) TEATE (Melting point)

(b) ¥ (Boiling point)

(c) 'Hﬁq (Liquid point)

(d) vdeR # ¥ =rf i

TS-TE & an # feafafes § 3
FH-A1 T wEr R 7

A A ogig B oW o afy |
et & ',

T A 3fE R w owmE w i
Bl

(a)

(k)

aE A 9w ow e w1
UHHHTE 91 T

amaE # afg a1 =i B w o
wed @t Bt

(d)
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e a1 ™ Lo -
. v e o
l_l.,..__ T el 'h_‘_. : o
i - % B, e
e ‘H'“--h *""u";l-'«..
- 5
e T - Vi ",_. - )
9 l..‘ e iy
I"""--|..|.| N *"ll-.-r‘
o b
(1 |
(. The work d \1
. one by e
i | . fiiocy 1 ¥ the for ¢ acling on 9 The quantity of heat needed 1o change
A0 an ODject 15 Zero if the = z : : B

displacement unit mass of a substance from hguid o

of the object
VAPOoUr withowl changing the lempera
ture, 15 called

(&Y 15 m the opposite direction of the

direction of foree {ay—Specific heat

(b} 15 in the same direction of the (b} specific latent heat

direction of force
{c) thermal capacity
(¢) 15 m perpendicular direction of
the direction of force (d) heat energy

(d) none of above e, ! .
g v 100, The temperature at which “vapour

% e . e :I oy -
:;i . i 4 i 1 5 3 .I'I' 'I-.I--”'\-Ell':l.l_

\ o | tIL ITRELAST] o N [ 1|L!d !1131‘1‘: i CLT H.-"”.I. .L'H:":':HT"-" W“J1 [44] RAEE = E

i ol - 4 = B 1] i Ca5L 15 L.JII.'..-':I-

(a) Uniform {a) Melting point

- - oty Boiling point
(b} Non-uniform o

= . (¢c) Liquid point
- N.Ir{\-ﬁ‘
.-l""'I!‘:r

(d) None of the above
(d) Highest at mid-point

181 Which one of the following statements
. . : ; -1 - e g ]
98. Which one of the following instra- - ghout surface tension 15 commect
. ; L1 u 18 3
ments can be used 1o measure 250 X
1 (a) It increases when [lemperature
temperature - . .
IMCTEASES
hased thermo-

p f eine 4 menrcury .
[” R -'[W.l It decreases when  LempeTatu

s ' ITICTEASES
' : ol hased thermo- b
i gy s I (c) I will remain same with increase
e or decrease of temperalure
i :aal {hermaoimetes g
(c) By using 3 clinical o e
| = L = [ L -l l_
le based ‘ncrease or decrease of lempes
i -guple
(d) By using thermocoup s

hermn: meier
L. 29 ¢ - TODC-T-GAT
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102. wrf g ww g W @, =

(a) w9 ® v fig % g @ afiw

wan #

(b) T W wrw iz % gm A o
F-.-Trﬂ 1*\-

{c) 79 W 94 4T &% wwew & W

wreT §

(d) Tz wrdh g 2

103. #zm s fiwlt deows 39 ofy @ s
et fmh i = o= = oW
(Twed) "9g @9+ wral &= w9
& R i i 7
(a) 2 & 0 @I FH & & A0
(b) iz & w=m = "gm & T
(c) 2 & ¥ # afz = & oo
(d) F9deF 7 | Ff 7

104, %7 @ Wi fiwh &h @ @ 9@ w0
wite g 2 @ fam ww @ O

%

(a) WETH FN WA
(b) WEI I ayEda
(c) Wy = =t

(d) vy W faasds

=

T
i

TODC-T-GAT - C

10%. SONAR 1 g #19 B

fa) WrATIREE AT Tham

1:‘~;.;|;-.||p:'.|;:||".|| Matural Hangingh

(k) firegm Aoty Al i
(Simple Operational Navigation
Ranging)

(c) wTE Afre o i
(Sound Navigation and Ranging)

(dy forra sitymA A= A
(Simple Operational Natural

Ranging)

106, Prefafn & & fem fafem = 30

e g &

(a) T foRm (X-rays)

(b) TEEET (Ultraviolet)
{c) ¥{H T (Micro Wave)

(d) HFTER (Infra-red)

107. Eiftrs e & foom s oed &

fom, freafafim % % o= = 5t

a

BT

(a) Tt fagm-0eht = safim fem
AT e B

(b) % sy www W= st
Al Hal

(c) s www sk fagm-inft S

w1 sratiE faea = wee #

(d) gy wew sk frga-dd St
o i fem s v #
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‘-;' N 3 b el -
1 gt B P e, "“'-N-,,._q_
; i H""“lu‘.‘ 'l'!-‘._lh. i iy
!i; | ., . W
’ . ‘.“

# LT e ] - .
Fa R, Ty 1._“‘- :

b L . o

B e, "
vl o 8
Sy, 8

' \1-.“?" A body sinks in water when

L}
LY

(a) density of waler 15 ereaier han
density of body :

(b] densilty of water iz less than
density of body

(c) density of water is equal to density
of body

(d) the body 153 heavy

@3, Why a fielder in the ground gradually

a4t his

pulls hands backward while

catching a fast moving cricket ball ¥

(ay To reduce the acceleration of
the ball

i

(b) To increase the acceleration of
the ball

(c) To increase the velocity of the ball

(d) None of above

L |

Li'@ﬂi- Bottom of 2 tank containing Waler

b appears 1o he raised. It i5 due 1o
(a) Reflection of light
_E__lgl,Rul'racliuu of light

_r,,-'""

(c) Interference of light

(d) Diffraction of light
3l

105, SOMAR stands lor
+
(a) Bonographic Natural Ranging

(b} Simple “|1l::.|.I|n!'.:|.! Mavigalion

Ranging

(g} Sound Mavigabion and Fangng

(d) Simple Operational Matural
Ranging

106. Which one of the following radiations
has longer wavelength 7

(a) X-rays

(b} Ultraviolet

(e) Micro Wave

(d) Infra-red

107. For a material under static conditions,
which one among the following staie

ments 15 comect 7

(a) An insulalor can be charged

(b A pl.‘r!li.‘s.'t conductor can e

|_"|'|;’|1';._!,l.:l.l

(c) Both perfect conductor and nsu-

lator can be charged

(d) Both per fect conductor and msu-
lator cannot be charged

¢ - TODC-T-GAT
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108, T =itF frre ) AE{HT WO =T
Sy x
Ll TR |:" 1.F.r_ o FEAF| .“.|..-'| TR

: B 5
HETeC: e 3w W f aw =fis w

]
L

(a) S-gfR Shw (wrewcRmm)
(b) =0 qgisean (Waamaifian)
(c) Frez-gf S (st
(d) 9 # & o
109. et frmm (firem) & fo = wian
wfem Tt & =t
(a) =9 f4gF (isolated) 2
(b} FaT ""7'-13?}' (mon-isolated) o
g ¥

r = -~ ﬂ -\. -
(c) Tagm af afager 291 #

(d) =9geh # & = ¢

110.5% M 7= & iz 51 fig A @

F 8

F9 & AR IS A6 R, Ag T=4aH
fag B % sgwdi & ok am9w A% ww
s wwh & feafafe @ & S-m
i

(a) AW nfi=m 7ot = By Rl ot
(b) AR nfaw 3o = Aw e
(c) B wfow Fmt = B W ferfirw 3
(d) B wfe= 741 = A9 nfim 3=

TODC-T-GAT - C

11, At # mdm gem v Fm o

T W § 7
(a) % TRATEH
(b) % T
{c) % BAEH
(d) T FHETH
112, Frr=ferfiam 3 % fimm w5 f 2025 %
g w150 7 f fe @ 7
{a) WA ety wdam
(b) Wi wdem fram
(c) wra #ten fawm fawm
(d) & 7E afw =fam
113, F9aes & = # ffafe § &
-1/ F -8 w wd R E

.8 TE @ § Femew fmow
- & R i e # :
sl fam 2

2. q% FA WEHR TR WEE #

& & uftam ) wenfia =0
& U e ifa #

w1 o g e w5 v g g
(a) @ |

(b) #am 2

(c) 13 22t

(d) T 982
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L i‘ s Y [ e - a A T .
L L . - L
el e P N o .'\-“ﬂ: & . . o -
iy T
f'lr i, o : 'L"'-m.._~|I
e 4 L"‘l-_l* N iy
;1' Vil g . ‘.‘u. "."‘lu.‘
ﬁl' e P "'\-.Hh‘ :
=] o el . ‘-""H P o
F = - e L - — "'h-‘“‘
e L . - -‘q__.
By ““""'--.-_..
L e,

\ﬁ' A PErEON CAn see nearby objeets elenrly
AN but cannol see dis i

ilant objegg distinetly,
the person is sutfenng wiik

(a) Hypermetropia
(k) |‘n':~'!1'-.-.-|~|.|
{c)~Nyopa

{(d) MWone of above

109. The energy 15 always conserved for a

gystem which 1s

{a) solated only

(b} non-1solated only

(¢} both isolated and non-isolated

(d) none of above

< H-Soppose, a ball of mass M 15 thrown

\ upwards from a point A and it reaches
up to the highest point B and returns
back to point A, which one ameng, the

following is correct ?

; Eilmlu: Encrgy al A Potential
Energy at B

-niial

(b) Kinetic Energy at A Potentia
Energy at A

'-Ei.-lp'l.t.'llc Energy at p = Potential
Energy at B

= Kinetic

(d) Kinetic Energy ot B
Energy at A

33

|.1-l- What 15 the mickname of the Mational
Men's Hockey Team of Australia 7

(a)"The Kangaroos
I_1'|E| The Boomers
() The Dolphins

(dy The Kooksburrs

112. Which one of the following organisa-
tions has completed 150 years of
service to the nation in the year 2023 7
{a) Botanical Survey of India
(b) Survey of India

(c) India Meteorological Department

{d) Press Trust of India

113. Which of the following statements
about ‘Jalvahak® is/are correct ¥

1. It is & newly commissioned naval
ship inducted into Indian Navy

2. It is a major policy for cargo pro-
motion unveiled by the Govern-

ment of India

Select the answer using the code given

below :

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) MNeither | nor 2

C - TODC-T-GAT
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114. ¥ 2024.25 & wmfmfa & s

weren et adta anf S oA
shrtren & awls Feas onfer Fest =y
i

it iy w4
(a) 600
(b} 740
{c] 00

(d) 68D

115. Frafafire # & fem vem & sl NITT
HEM Tw Tl @ e wiad

'

HEH (SIT) & = & fm wem
W W # 7

(a) U= & fam NITI Sewid

{b) WA & W5d Fon

{c) U= wergan fim

(d) s =iw FrfEw (vfErtee

=Hiw W)

6. Fr=fafaa & & e wdfln osg 5
FiFaEe @R w1 ity fasy
(deposits) &

(a) T wew
(b) e wRw
(c) Wrw@z
(d) #feam

TODC-T-GAT - C

R -

l:._'.|J| F e b LE]

okt

p
117. Tt

£k “rrr
Frerialtra e ue fapare. T AT
|, A 11 5§ 1998 # WEETH WA

w1 oy fearm ®, "W WA A
;

R ER IR §ilie = W WA T
iferer fiR =

o 71[{'[2[ 'H.T.':Tl.quj-] ‘i-:,\;“ MWi2s .:.._-_N:
ﬂf‘.’d‘ur:{n} 'i-‘.l'.[-',[ |>‘i|"'-:l -'-'E'""-
e ~ AT o '_:rr'.r.'_ CEl T
= weafaa o #

ITe H @ FF-E/ AR o wh
R/E

{a) FF 1

(b} FEA 2

(c) 1 &R 2 Fri

%

(dy T 1,a% 2

118, Frafafim 3 & 63 2 2025 & v
# T v S B | e feot T

1. s gefl s
2, FHAT =i

3, THETT Hiw

4. afien s AT
A fam & WA F I g
(a) 13k 4

(b) %@ 2 ¥k 3
(c) ¥=a | sk 2
(d) 1,23k 3
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14. How  many  rural  distrie ;
; ; ) o L [ 0]
Mahatma Gandhi  National Ryrq)
X Lira

I‘"r:fll-‘..'.":'-'l ment Cruar antce

on 2024-257 AL cover as
l;L':, ¥ bh
(b} 740

.
ic) ]

(dy 680

115. Under which one of the following
initiatives does the NITI Aavog ':iLl]'l]'.ll'_'IEL
mterested States 1o establish a State
Institution for Transformation (SIT) 7

ia] WITI for States Platform
(b} Bharat Ke Badhte Kadam
(¢) State Support Missicn

(d) Aspirational Block Programme

the following Indian
the maximum
2w Chromite T

“Which one of
States account for
deposits of Bauxite a

(a) Andhra Pradesh
(b) Madhya Pradesh

fpﬂ”ﬁ;mham

(d) Odisha

Sy . =1
~ e T
‘."'h W — g
. iy,
Vo \-\...,.lh‘ -
b BT i
- ey ]

117. Consider the following statements with
regard to Mational Technology Ly

1. T esmmemorates the momentous

evenis of 11th

arrducted s

1ests under Operation Shakt

\'.-{.|.|- Rt r T b

-
inclia ¢ cetifiu]l nuciear

7 The official theme for Mational

Technology Day 2025 is 'School

1o Startups — lgniling Young Minds
to Innovate’

Which of the statements given above
is/are correct !
(2} 1 only
(b} 2 only
(¢} Both 1 and 2
{d) Meither 1 nor 2
118. Which of the following were added in
India as Ramsar Site in the year 2025 [

. Sakkarakottai Bird Sanctuary

| % ]

Udhwa Lake

. Rudrasagar Lake

Lad

4. Bakhira Wildhfe Sanctuary

Gelect the answer using the code given
below

(a) 1 and 4

(b) 2 and 3 onl)

(¢) 1 and 2 only
(d) 1,2 and 3

35 C - TODC-T-GAT
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120.

9, firsde faardt fime wmeft & Wt o
Frafaftra ww=t gt e fif .

1. ag 2 fieke W W@ Set e
{(double centuries) =M ATH
AT FHHE &

2. ME WHM & B9 ¥ waifien udes
T A e Wt
firamdt #

3, 9% FWH! & yEdE A Al 9w
(twin centuries) TAH AT TEA
AT FH §

4. T fieke § yftmrin 9t W
T G Wi B R S
=it R

T # @S-8 T wd g 7

(a) ¥Ae 1 3K 2

(b) Fae 2 #K 3

(c) F9 1, 3 K 4

(d) 1,2, 33K 4

vafas  (Ethereum), 2% (Tether),

#FFT (Solana) @ FEMT (Cardano)
—wv fems e € 7

(a) fFrer =

(b) T Ffewen (AD) widsm
(c) ATE-®EH (¥EHIEE) Tl
(d) #Afewa o

TODC-T-GAT - C

“I'he Origin of Species by Means
ol b o

121, qEak
of Matural Selecti T8

() el wida
() Aram i
(c) FTATI e O e FAL
(d) TG E T
122, fam wram far @EA (WMO) =
e wEl &7
(a) Tereooets
(b) THIEAS
(c) wieam sfre
(d) T

123. 7299 pH Bm W #Fr@ #WR A=
(human alimentary canal) % TATEH

iftm s fm sd = &, 3 ¥
() FHE: pH 20 #K 79
(b) ¥ pH 4-5 3T 3.5
(c) ¥ pH 95 AR 45
(d) s\ pH 7.0 3k 80
124. A FFE1 (FOFH) T W @
& g Wi s A st disa ol

a W AR Heh wAA ol wrE w
mﬁmﬁﬁmaﬁn% ?

(a) & @AWl

(b) &R AT

(c) ¥a.¥EdEd HTgAE
(d) FFH 6 F awn

36
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}J‘\f.ﬂnml”' the following .
# Mabout Cricke RInE  slalements 11." rha book 1 Aain of Species by .
ickel plaver Virat Kohili (A& 1h v he Origin of Species DY
" B Mean af Batural Selection WS iy
g
authored by .
- L -
] He 15 the anly i-'-|'|.|||| 1o ||_|1,|: e
f';“"'kd seven double centuries in {ay" Charles Lrarwin
esl Cricket i i
1 5
by Cardlus Linnacus By |
' -

2. He i1z the [ ; :
¢ 15 the only Indian cricketer {e} Parbara MeClintock

LWL " 1 o =
ith mosi cenfunies sz & caplain | :
(d) LOopemiuiks

3. He 15 the first Indian captain to 3 :
achieve  twin  cenfuries T 122. The hcadguarters of Warld Meteoro
= A L= LN o
caplaincy debut logical Organizalion CWMO) is located —
; at . T
.
4. He holds the record for the most (a) Switzerland
double centuries by an Indian In :
Test Cricket (b) Scotland
- h'r
(¢} South Alnca ™y
Which of the statements given above
are correct 7 (d) Italy _
-
(a) 1 and 2 only 123, The optimum pH at which the enzZymes -
pepsin and try psin of the human
alimentary canal w otks are
(b¥ 2 and 3 only
[ s
(a) pH 2-0 and 7-9, respectively
3 and 4 only f - . "
() 1 / (b) pH 45 and 3-5, respectively
(@ 1,2,3and4 (¢} pH 9-5 and 4-3, respectiy ely
(d) pH 7-0 and 3-U, Tespectiy ely -
_Frhereum, Tether, Solana and Cardano A .
are all forms of Qg The amount of air breathed in and out .
* \ during a normal respiration by human .

lungs 15 referred to as

y‘crypm currency
(a) Yital capacity :

(b) Artificial intelligence( Al) Startups
(b) Tidal volume

(¢) Humanoid Robots (c) Inspiratory volume

(d) Total lung capacity

(d) Medical apps
¢ - TODC-T-GAT
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128, g # wwmbat sl fiost & a8
feafataa & & - s vt T
1\} 2

(a) i gem & o d ¥ sl

firme gew &t AW o Awh 2

(b T wihm wla sl
wh o Wt § v peph fivm
"oA wiwdrfes o & ey §

() wmr: fimst &t gem &
mafmt # dad afe w98 ok
GRIGIRAGIR

(d) w=fEt & o T 9 £ fig
fimmait % e i #

126. 3 Wl $ wgam i o w3
wvs wiEss g Frife fg o # 2

(a) Few frmd MW wmm, WK
1, 5wl

(b) WTET I WIS WM WW A
ar &t &1 fgem
(c) Efeew wmufimt £t ofy =
frafia w0
(d) ¥@ 91 9T 9 T $ FEen
127. sTfege T TR WA W o

weeaqel fimm | gu Fefafim i 2
fermer st & fam s B 7

(a) T
(b) AT
(c) sHfe
(d) ufgAedia

TODC-T-GAT - C

38

128, fiqmt o st % (menstrual cycle)
eiafl oo Fafe g & oW s

e &

(a) amyr st sy Wi g
by sEnrm s Am afa g
(c) s st gy wfy g

(d) T (Wree) Ak dae wte g

129, frfisfirs & & #=-d o =i
war yir ufeeen sefem & dhem =4
weE & wiawsh (WEtE) =1 |
? 7

(a) =ggifte=
(b) satfaife
(c) forerams
(d) wrAraTEE

130. Fr=fufisa 9 & fisr Sfiiit =7 s
= # A A e e

(a) UErenfem Wgam sk wieh
E’iTsﬁ '

(b) wrEtwifgm ok e

(c) TEraniae e sk wmR-
e

(@) wifia fify s R
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i
&, Which
statements about are

one s
mong  the following

nes and veins in

humans is NOT correct ?

(&)

¢ (b)

(c)

(d)

126. Identify

Arterics carry blood AWy

G
heart

while wveins

brng b
towards the heart

bl

Pulmonary arteries always camy
oxygenated blood while Pulmoe
nary vemns always carry deoxy
genated blood . ]

Arteries have thicker and more
elastic walls compared 1o veins in
general

Artenes do not have valves bul
veins do have valves

the functions that are con-

trolled by the hind brain of human
being

(a)
ib)
(c)
(d)

A

(a)

4 _Todized salt i8
as it 15 essential for 1

Involuntary actions such as blood
pressure, salivation vomiting etc.

Controlling the regions receiving
sensory impulses from receplors

of

Controlling the movemenk

voluntary muscles

Sensation of hunger of being full

a vital part of our diet
he 5'-«’I'I11'I'E'51*1 of

Estrogen

Mh}wxin

(c) Insulin

(d) Adrenalin

|
|
A

#5'] The menstrual cyele o lemales &

contralled by b

I
pecretedd Dy

{ay Orvary and

(b} Owary and seba

{{'-'i Owary andd petu

Prosiale and

{d)

129. Which one of the f
fype secrete large n
during an MM
body ?

{a) Neutrophils
(b) Eosinophils
{¢) Lymphocyies

(d) Monocyles
i
_', -+
*

“ 130
|1 {heir own DNA

lacrmal @

Ll ms kL
1L

THCHES that

y] W

umber of antibodie

[ r;_--.|1l::'.-.-_' 11

and nbosomes

arc

L lamd o

Which of the following organelles have

(a) Endoplasmic reticulum and Golg

bodies

)}' Mitochondria and Ch

{¢) Endoplasm
skeleton

e rebiculum

(dy Cell wall and nucleolus

@ Scanned with OKEN Scanner
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131. Frafirfim 8t (Zones) W1 ywaw W
¥ wei fiew &% s W
#4 # =mafem $ifio

1. m’_ﬁl_'"Tﬁ“ R (Equatorial zone)
2. megHETig S (Midlatitude zone)
3, E-."L-'-ﬁﬁfgl_"'lf'l'-'q' 9 (Subarctic zone)
4. 30 wfeEdta 89 (Tropical zone)
A R g w1 W w g g
(3 1-3-2-4
@) 1-5=4sg
c) 1-4-2-3

d 3-1-2-4

e

132. %6569 (Feldspar) @fm % @aw

fFrafafas == w fimw Hifi .
. st qoddt Seemn & =+t B

zwmmﬁrﬁ%%ﬁﬂm
TS T T §

3. WA WER & Heewr H Mfifirgm
% HHIY a9 g #

I ¥ A-w /A
ByE

(a) #A |

(b) F=4 | ¥k 2
(c) Fa= 2 3k 3
d 1,23k 3

TODC-T-GAT - ¢

-

133, AT

& e (Sedimentary Rock) u’fﬁ'*'
afigm & @k #

frerfafirn gqoil forare Fifio .
feyrfor &1
gferar

i Paim #

auTal
sta
4 AL IGE
# fafda

St w9 4
\GILE
G | —  TifE B

a fafida
I # A FA-w/EA-E g E
gt 2/% 7
(a) T 1
(b) ¥&d 1 3K 2
(c) ¥aw 2 3 3
(d) 1,2 3R 3

2. MEALEE

134, fFeafafes # & 9w /#9-3 5=

e R/8 2

L WgETRE WAl (Oceanic
trenches) w2l $ 7 % wegge #
eI WA §

2. WETETHE  wréni whEw ware-
gﬁaﬁiaﬂxmnﬁwﬂm

(a) Had |

(b) Faa 2

(c) 13 2 ==t

(d A 1,982
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X
\P{ armange  the  following
gscending  order .

EONes

;.r [ . M terms of i
vk | fatitudinal extent on the Earih i
R = SuUriaces
1. Equatonal zone
L g
2. Midlatitude zone
4, Subarchic fone
4. Tropical zone
celect the answer us
i | AL ising the code
i C give
below i
(a) 1-3-1-4
) 1-3-4-1
fa
':'\.EI‘I -: I- 1 4

132, Consider the following statemenis with
reference to Feldspar mineral :

1. Half of the carth’s crust 15
composed of feldspar

5 1t has light cream 10 salmon pink
colour

3. Magnesium 1% a common elemenl
in all types of feldspar

Which of the statements BIVET above

i fare comect 7
(a) 1 only

() 1 and 2 only
{c) 2and 3 only

(@ 1,2and3

133 Consider the following pairs vk

reflerenee 10 scdimentary o ks and the
process of e formiation

b -.Iul'lil'rl.'.ﬂ ! | Wk ] af

ot k F o aiiomn
1. Chert Chemically
L !'ll"=
2 (eysenls L panically
formd
3. Shale pdechameally

Which of lhe pairs wiven above 13
correctly matched

(ay 1 only

(b) | and 2 only
(¢) 2 and3 only

(dy 1,2 and 3

i

r',' 4. Which of the following stalemerts
|\, isfare comrect 1

1. Oceanic trenches are Ver) 5111
ficant in the study of plate

menis

jankhl iy

e R
ATeE AR LA

3 (Oecanic (renches
with active voleanoes and

SO,

earthquakes

Gelect the answer using the code ZIVER

below :

(al 1 only

() 2 only

ey Both 1 and 2
¢

(d) Meither 1 0OT 2

41
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135, '!L-i'ﬁil # ety & prm # (shadow
ronel frafifm W A
i-l'-‘f-l HI _--.i"'-? .I?l b e | Hl‘f ,:. r'llﬂ K

e W

1. Yo whirkg & 105° M 145° &
dt & gy @ poaont sl s
st & fong v g % e fufim
fira T

Fad

P W @I A S i uT
i & wftrs faegm @

At fo T e @ wim a s gf
{a) wEA 1
(b) F=F 2
(c) 1 3% 2 3
(d)y 71, T2
136, frrafafas 4 & -t =r=mgE €

Craf A

(a) FARE (Azores) BITEE

(b) i {J\EEE]]Eiﬂ]])m

(c) wATE {Hawaiian}lm

(d) Tz =1 F781 (Tristan da Cunha)
137. Tt i & wed § Frefafas s

v faam #ifim

1. 70n # Furd w= it gam $i
nfa, was it amaf, @ T-ofa
(fetch) & T &

TODC-T-GAT - C

138.

5 faft wvin # Fent why FE ¥ 138

| 3 J|r||.|':|'|rli1 Erift B

1 TEL WETAIT § WA W W

r
T

wdt sfirer Al W S T

0

soifer A e R e
R/8 7

(a) A 1

b) W 1 i 2

(c) ¥Aa 2 3 3

(d 1,2 33

a1 Pt whe & wed 7 Freafefi
# % w-m /- w28

1. BI=aen  (translocation), #9HA
{enrichment), ¥TEEY  (removal)
T B (transformation) G L

formter whiem & fafir Sftw #

2, TGO #, A FO w AAAEA
(eluviation) TRT = S &1 = w0
war ¥ e WA (illuviation)
i faer wE (horizon) # af¥a
fiFa = 2

A fon M e @ wEm w9
(a) ¥4 1

(b) *aa 2

(c) 1 3R 2 Zi

() a#1L798 2

(} Scanned with OKEN Scanner



135. Which of the

following
o shadgy,
arthquake i<

with “‘-'.;‘-.ri-:rl.l.'l.,' hl“'-'-'rlll,"'nt-\\

. T
gvent of an ¢ CUNES In g

Al '-'”'Ill.'q,r_ o
:"r 14| bt 8
5 LR DElwgeg
cm 105 I:.ul.l -Ill.;

IrcHm
identified

CPLCENIre  wigs
a8 |||‘L'

shadow zane -
i FONE voth P wave
ves

Lor
and :"'h WA g

2. The shadow one of Powgye
f aves ig
much larger than

; that of ihe
H=-WaAVEeS A

.hﬂﬁ“' the answer using the code given
below .

(a) 1 only
(b} 2 only
(c) Both 1 and 2

(dY Meither 1 nor 2

Which one among the following
voleanic island chains is NOT asso-
ciated with mid-oceanic ridge ?

(a) Azores Islands

(h) Ascension Islands

e} Hawaiian Islands

(d) Tristan da Cunha

. ctatements with
Consider the following statements

reference to sea Waves -

1. The height of wav
by wind speed, Wi
fetch

es 15 d-_'1|_'m1||1cc1

pd duration, and

The energy of a wave is propor-
tronal (o the square of its |-||:-|F:||r_

Waves retain most of thei ERETEy
4,
as they travel across the deep

LHOCIAT

Which of the statements given above

]

157 are corpect

(a) 1 only

(b} 1 and 2 only

(c) 2 and 3 only

(dy 1,2 and 3

Which of the following statements
wilh reference 1o soil forming pro-
cesses isfare cormect ?

1. Translogcation, enrichment, re-
moval and transformation are
different classes of soil forming
ProCesses

2. In translocation, fine particles are
transported downward by eluvia-

tion and accumulate i lower

horizons by illuviation

Select the answer using the code given

helow @

(2) 1 only

(b) 2 only

¢} Both 1 and 2

idy Weither | nor 2

@ Scanned with OKEN Scanner
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139. 9=l & argrze ) woen & e o
treferfian waet o faame difdo

1. §eHES (troposphere) &t wrend
faga a0 o e aifies @

2. Ef!“ﬂ'E”'ﬁflr g1r|'||'||_1|1|:||.|:.4:} J?!I 1
aaE gat & a0 wan s
AG I

3 oEEE § wErs 165 W 6
SHTE W AT 1°F ) ot & wa

g/

140, F=fefam # & @l-3 @0 gelt ™
H3T99 (insolation) F AT 7 firman =
TN FA B 7

. T N HT AE W

2. T & =ard

3. 9= R qfa d@k s\ =
A1 120 10 92 @1 i g gfin
(a) A |
(b) ¥a 1 3l 2
(c) #aw 2 3k 3
@ 1,2 ¥ 3

TODC-T-GAT - C »

141, Forafeaia gl h et 3.,11;
e % fm wge  foafafam
fesrferat {conditions) 9% for=me 7A1'=|":|"|ﬂ1'”. :

1 miftaifam a6 aoferfy

2, TR T A W I

3. Featar yaat 6 7f 4 afirs 3w

il
sudes A 4 F-d el w28
(a) F&F 1
(b) ¥4 2
(c) 13k 2
(d) 2 33

142. Fr=afafim 4 4 959-% 7= =i
s Ht wmfaa w #

1. wifarifem =

2. Tod

3. §R Sl gy amae

4. waq
9 e T e i R s g
(a) Fad 1 3k 4

(b) & 2 sk 3

(c) ¥ 1, 2 sk 3

(d) 1,2 3 3k 4

p —
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139,

140.

Consider the follow, Ing st
-]

reference AlTments w ith

| i
L AL 1 LT e ] r
¥ ST iC I || I-t | || ]

aimosphere

1. Thicknes '
ckness of (he Iroposphere

greatest at the equaton 15

S
2. The air te !
AT 1L1'|'||1L|;.|-|“H 5 tha B
pause 15 highest ok b
apove the |‘“|1.h
3. The

lemperature in Iroposphere
decreases at the rate of 1°F far
every 165 m of height
I
Which of the statements given above
is/are correct 7

(a) 1only

(b) 1 and 2 only

2 ]

(¢) 2and 3 only

(d) 1, 2and 3

Which of the following are the factors ,..s‘f

that cause variation in the amount of
insolation on the Earth ?

1. Rotation of the sarth on ils axis

e

Length of the day

3. Distribution of land and water on
the earth

Select the answer using the code given

below :

(a) 1 only

(b) 1and2only
(c) 2and 3 only

(d) 1,2and3

‘1“\..,_‘ oy - -
o, Hi . 14..',.
: - e e
"y T £
141. Consider the following conditions
{favourable for the [(ormalion and
intenaification of Tropical Storms
|, Presend & ol the i oriceliE once
2, Upper divergence abovi the sea
level system
1, High variations 1n the vertical
wir] speed
Which of the conditions given above

is/are correct 7
{a) 1 only
(b} Zonly
(c) 1and2

(d) 2and 3

dld?. Which of the following factors In nflu-
‘ul::u:c the ocean currents *

. f}? Coriolis force
-
Fa
2. Gravily
1. Heating by solar energy

4. Wind

Select the answer using the code given

below :
{(a) | and 4 only
(b) 2and3 only
(¢} 1,2 and 1 only
(dy 1,2,3 and 4
45 C - TODC-T-GAT
B 1"'\1-..'.r
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143, frrsfafoa 4 8 sfa-ft o apmmdis

yra a8 7

|. AT 9T
TR E U]

4. giraddt wtefaos g
A+ 1o g g2 W W W I wf
(a) ¥AF |
(b} 1 3K 2
(c) 334
(d) ¥a= 4
144. 359 T wEw: fem @ ek
WA T | HA A e & 7
(a) A9 2 B9 3R 6 WRd™ U
2 29 WK 7 WG e

w3 # AR 7 widig U=

b} =

3 291 3 ¢ WA T

145, Fr=fafem 4 4 =h-m1, 9@ & ©R

# g Fad w9 #fE  (northemmost

river basin) & ?
(a) Ta=
(b) HTED
() el
(d) wmet

TODC-T-GAT - C

146, W W Ao

fipers) v B 7
[ fedras
2, ATIETAA
3, FiEhE

4. gtz

A fem m i T WA

(a) A |
(k) 132
(e) 33w 4
(d) ¥ 4

e Frefrfora & @

147, MNE | I A ATl TEAl & 698 A
frafafom & & wF-w /=9-8 595

wet #/8 7

1. = e (Fed) @R el w5l
e # = N &, w=tE A el
T el g Wi F fon aag

2

2. AR B i v ' o e,
I WU AR mEEw e |
® A R, w=tE ooh £ o

qead: e,

#

Terarer w3 ) wreft
ﬁ%ﬁqm:gmmmmgﬁq:

(a) @AH |
(b) & 2
(€ 1 %K 2 2
(d) T 1,9 2

N R -
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- By, N b, s,
: e Ih"-. . - ‘HI :
b e . 1|'.""""'- A b

A
13- Which of the fall,

wing is/are

f-"" i OCSin current(s) 7 AT 146, Laterite soil in India is rich in which
. af the [ollowing 7
1. Alaska Current
j 1. Calemim

2. Agulhas Current

N 4. Mitrogen
3. Falkland Current }

T ; 1. Phosphate
4. West Australian Curreny

Select the 4. Polash
welect the answer using the code given

VS Select the answer using the code given
{a) 1only below
(b) 1and2 (a) 1 onmly

(b) land2

(c and 4

'/ﬁ",l 4 only {c) 3and 4
(d) 4only

; I_h* State of Assam shares borders with how
rj"‘ many other countries and Indian states @1‘ ) Which of the following 51a1-:m¢n!t5
respectively 7 with reference to crops cultivated in

P : - India isfare correct ?
/{-.‘1] 2 countries and 6 Indian states

respectively I. Bajra grows well in sandy and

; '+ - shallow black soils, whereas red

(b) 2 countries and 7 Indian states e iallowr Biack soil Ia suited Sor
respectively Ragi

(e) 2 mur?mﬁ e A 2. Bajra is predominantly grown in

Tepeiivcly states like Rajasthan, Uttar Pradesh

and Maharashtra, while Rag 18

mainly cultivated in Kamataka,

Tamil Nadu and Himachal Pradesh

(d) 3 counircs and 6 Indian stales
respectively

145. Which one of the r‘_}“':""_"i”g o fhn Select the answer using the code given
northernmost river basin of the Deccan below :
Plateau ? e
1

j s (b} 2 only
o, Mo o) Both 1 and 2

ada { ;
i (d) MNeither 1 nor 2
(d) Tapti

47 C - TODC-T-GAT
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148, w1 1 = w1 & gl Fibm sk

gutat & 4 o oo

B. STz 7

e R WA

Tl 11
(@)

=
. HHE (AT

A B C ]

=
=]
e
s
-

b
$u

(d)

149. fr=fafam % & sh-w1 959 NTPC

T # 7

& U ATl

150.

(al

(b}

{c) HEIE

(d) IOT WaW

wa # e frpm

AT

il

AT e

T

yafeafy @ waftm =gl & #=d H
frfafaa guit w far Fifim .

L.

1. s
IV aAraii

qeehl
T

T | feer
oL 0el
FAleS
GEUIGH

LEG

Hm A /e gm W

gifera 2 /% 2

1

2

3
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1 48. Mateh List 1wt

§
|
151 11 and aelect ()
e

answer using the
Pl 1 LS . * . "

Lists : oode given helow i {a) Ciwjara

1 ik} Lsoa

151 |
iy List 11 (e} Maharashira
i 1r.r;. 'l".lll

A, Bewar (dy Ulitar ir adesh

L I [}

I. Manga
ANEANCSE
B. Balaghat ? M 150, Consider the following pas Wi
<. ivica reference Lo Thermal Powes Planis and
. Bilaspur g . iheir location in respeclve Lates in
; =T Imwillis :
D. Ballary T
- 4. Bauxite |r|.|'l'lr||'||' Powier Laocaled A
) Ty
{ {h“.‘_ ! Lank L
{ttar Pradesh

. Panki

A B i
" 1] Parh Kamataka

1. Vijayawada i Telangana

4
j—
=
B

(a)

V. Wanakban (ujaral

L
i
Pl

(b)
How many of the pars given above

(<) 2 1 4 1
is/are correctly matched ?
i 2 3
[ ) 4 1 A |::I.:I l

=d

i)
(c)
(dy 4

the following is
clate from the
plant of the

149. Which one among
MOT a hepneficiary
vindhyachal Power
NTPC ?

Led
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